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Start with Confidence… 

Pens cost £85p each, Rulers cost 

50p each. James buy 3 pens, 1 

ruler and 2 pencils. He pays with a 

£5 note and gets 95p change. 

Work out the cost of a pencil. 

There are 7 red pens, 3 blue 

pens and 5 green pens. What 

is the probability that I pick 

blue? 

-3 < t ≤ 2  

t is an integer, write down at 

the possible values of t 

Solve 
𝑥

4
 = 1 

1

2
 

Write down a suitable 

estimate for the average 

height of a man 

Write 56 as a product of 

prime factors 

Work out 60% of £90 

Solve: 4(x-5)=18 

3 
5 

Write       as a percentage 

Work out 
2

3
 - 

1

4
  

 

Simplify 6 x f x e x 9 

Work out 
5

8
 x 

3

4
  

Work out the area: 

Write 5.26452 to 3 

decimal places 

5 

3cm 

5cm 

Work out the value of 24 

a = 
3
4

 and b = 
−2
1

 

Find: a + b 


